et EXO0

4. EdhmPEEEGEREE/NEEZHREHEIRE--BH: P2 ((KRIEE .P2->P2)

PNA21-01-4&8: P2, f#&C5%: W15, fIEF5%: 1 [X0:-8,Y1:+174] , #&&: (1347.5)=1347.50 cm, #&=:30.0 cm

#4 _J F|EH(E14E) BERE(EX)FESIE]30+[EH+E$7]15+[90 F & £4]18.3= 56.95
63.28
X &= (Int((1347.5-5-5)/15)+1)/100= 90
T E 7 #8 K (5 140)= 63.28*[ X ££]90/100= 56.95 M
#4 JKTEEE(E148) KERE(EX)= 1347 5+ [ #£]Int(1347.5/(8*100))*48+[ & 4 27.91
E— 2-Ld]0* [ m]2*37+[EE E i fE4E £8-Ld]37*0= 1,395.50
X#=2/100=2 %
JKEFFHE R (FE140)= 1,395.50*[3 #]2/100= 27.91 M
#4 _J EE(E24) EERE(EX)[ESIE]30+[E M+ 4]15+[90F & $5]18.3= 56.95
63.28
X 8= Int((1347.5-5-5)/15)+1)/100= 90
T E 548 K (F240)= 63.28* [ ££]90/100= 56.95 M
#4 JK R (E248) KERE(EX)= 1347 5+ [ #£]Int(1347.5/(8*100))*48+[E 4 27.91
E— 2-Ld]0* [ m]2*37+[EE E AT fE 4 £8-Ld]37*0= 1,395.50
X#=2/100=2 %
KRR (FE248)= 1,395.50*[% ]2/100= 27.91 M

#5 TIERS:
JKFEHEEL: Int(1347.50/60)= 22
FEEHEEC Int(30.00/60)= 0
TERREE:((15-3*2)+10%2)* /K EHE &R 22 [ E E HE#4]0= 0.00 M
BT E:
KEEA
INER 1 5 ¥8=(L)1347.50%(H)30*2/10000=8.09 M2
LB EiBRR/NET: 8.09 M2
B4/ 51:15%30%2/10000=0.09 M2
*EHJ:}J;J;# 8.18-[F9%54110.00-[ & FaBA O $010.00+[FH 25 $:4410.00+[ &3 Fa B O $£14%]0.00-[{81 & 3 $£401]0.00=8.18 M2
RC&&:
KE&A
INER 1 B ¥8=(L)1347.50%(H)30%(t)15/1000000=0.606 M3
LA EHEF ERC/MET: 0.606 M3
RC/I\at: 0.606-[F9 %5 B3 0 RC]0.000-[ & F B A RC]0.000= 0.606 M3
—————————————— HEHERN
SRR /NET(REA O L B0 RBR ) (H&BF O LE451:0.0000)
#4=169.73 M*(1-0.0000)=169.73 M (169.73 M*0.994/1000= 0.1687 T)
MAR/INEH(EERF)=0.1687 T
HRR/NET ()= 8.18 M2
iR /NET = 0.606 M3

PNA21-01-1&8: P2, #E4C8%: W15, B SE: 2 [X1:+204,Y1:+174] , #& & (562.5+1332.5+562.5)=2457.50 cm, f&

=:30.0cm

63.28
&= (Int((2457.5-5-5)/15)+1)/100= 164
FEEFER(E14)= 63.28*[% #]164/100= 103.78 M

#4 _J EEH(E1H) EERE(EX)FEIB]30+[E M+ 4]15+[90F & §4]18.3=

103.78

#4 K5 (5 148) K (B 3)= 2457 5+[HE1E]Int(2457.5/(8*100))*48+[E 17
= H-Ld]2* [ R]2*37+ [ R AHERE A 8-Ld]37°2= 2,823.50

X #=2/100=2 %

KEFHRE(H140)= 2,823 50" [ #]2/100= 56.47 M

56.47

3

(55248) BERE(EX)FESIE]30+[E M+ $7]15+[90 F & £4]18.3=
63.28

X 8= Int((2457.5-5-5)/15)+1)/100= 164

T E R (F240)= 63.28*[ % #4]164/100= 103.78 M

&

#4 _J EEf

103.78

#4 K 5 (SR 248) K (B )= 2457 5+[HE1E]Int(2457.5/(8*100))*48+[E 17
= H-Ld]2* [ ]2*37+ (BB R AHE R 8-Ld]372= 2,823.50

X #=2/100= 2 %

K HE (H240)= 2,823 50" [ #]2/100= 56.47 M

56.47

#5 Al A n:
LEE A RS (S =30 & Ek]*2*[X]*4/100= 2.40 M
#5 T1Efh:
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JKEHEEL: Int(2457.50/60)= 40
= E B8 Int(30.00/60)= 0
TEMEE:((15-3*2)+10*2)* /K F HEER40* [ R E HE24]0= 0.00 M

EARETE:
N
INER 13 B =(L)562.49%(H)30*2/10000=3.37 M2
KEg:2
INER1: 3 EE=(L)1332.50%(H)30*2/10000=8.00 M2
KEE:3

INER 13 BB =(L)562.49%(H)30*2/10000=3.37 M2
LI b F BB AR/ 14.74 M2
Ecﬁglg: 14.74-[F%$0]0.00-[ B F1 B 01 $0]0.00+[F9 88 £14£]0.00+[ B Fa B 0 £14%]0.00-[{8I E 35 $%#0]0.00=14.74 M2
RCET&:
KEx:A
% INER 1 B HE=(L)562.49%(H)30%(t)15/1000000=0.253 M3
E%:2
% INER 1B HE=(L)1332.50%(H)30%(t)15/1000000=0.600 M3
E%:3
INER 1 BB =(L)562.49%(H)30%(t)15/1000000=0.253 M3
LA EHEF ERC/MET: 1.106 M3
RC/IM&t: 1.106-[F95 B O RC]0.000-[ B B O RC]0.000= 1.106 M3
-------------- STEFER DR -
AR /INET(IKBE O LL B0 BR#R): (#ERA O EL451:0.0000)
#4=320.51 M*(1-0.0000)=320.51 M (320.51 M*0.994/1000= 0.3186 T)
A 0 EL A PR AR SR AR 80 5 /Nt -~ (R ER 2 R HOBRBA O LE431):
#5=2.40 M (2.40*1.560/1000= 0.0037 T)
AR/ NEH(EE M +EEAT) = 0.3223 T
/NG (E)= 14.74 M2
EsEt/hEt =1.106 M3
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